	
	


ANSWERS:

1.  8.8 – 7.1 = 1.7 points higher on Richter scale

     101.7= 50.12

      New Madrid quake was 50.12 times as strong as the S.F. quake.
2.  A quake 10t times as powerful registers t points higher on the Richter scale.  

Since 1000 = 103, the proposed quake would register 3 points higher, 

or 7.1 + 3 = 10.1 on the Richter scale.
3.  10t = 80


t = log80 so t=1.9


The quake measured 7.1 + 1.9 = 9.0 on the Richter scale.
4.  8.8 – 8.4 = 0.4

    100.4 = 2.51

    New Madrid quake was 2.51 times as strong as the Alaska earthquake.  

5.  4 = 10t 
    log4 = t  so t = .6 

     Russia quake on Richter scale = 8.4 + .6 = 9.0

6.  7.2 – 5.6 = 1.6 points higher on Richter scale


101.6 = 39.81


Idaho quake was 39.81 times a strong as the Arizona quake.

7.  10t = 3.16  


t = log3.16 so t= .50


Montana quake on Richter scale = 7.2 + .5 = 7.7
